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BKHAH 2021454 19H | 202145H19H | 2021454 19H | 20214E5H19H | 2021454 19H
PRAKIRFZ ol 9l 11 11 101
k&
EEFSA & & & & &
AT H R & & & & L
AR C 24.0 19.0 21.2 19.5 19.5 24.0 24.0 19.0
7RI C 20.1 18.9 19.5 20.1 19.0 18.9 20.0 19.5
— B 100 1| /ml 1,400 0 472 1,400 0 960 0 0
PN M 199 IS RcAe 67 199 ISR 135 IS RcAc BT
HARIV LR OZEDEY 0.003 0.0003 |mg/! 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 >
IRERK O DALE Y 0.0005 | 0.00005 |mg/I 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 >
LV R OEDLEY 0.01 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
WROZEDILAEY 0.01 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
ER KR OZEDILED 0.01 0.001 'mg/1 0.002 0.001 > 0.001 > 0.002 0.001 > 0.002 0.001 > 0.001 >
VoY ZA=ON a2y 0.05 0.005 |mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
K| Rz % 0.04 0.004 |mg/1 0.015 0.004 > 0.004 0.015 0.004 > 0.004 > 0.004 > 0.004 >
T AMIAT L RO T 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
THEEREZE 8 M OV AR R 2 5 10 0.2 |mg/l 0.7 0.6 0.6 0.6 0.6 0.7 0.6 0.6
Tv# R OZEDEY 0.8 0.05 |mg/! 0.08 0.08 0.08 0.08 0.08 0.08 0.08 0.08
ROFEROZEDILEY 1 0.025 'mg/1 0.039 0.030 0.034 0.031 0.037 0.030 0.034 0.039
DAk R 0.002 0.0002 |mg/! 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 >
1, 4—VAF P 0.05 0.003 'mg/1 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 >
" LT Y 0.04 0.004 mg/l 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 >
D=1z 0.02 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
FrFranFLv 0.01 0.001 'mg/l 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
INA=I=E S P2 0.01 0.001 \mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
NPy 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
biE N3 0.6 0.06 |mg/I 0.10 0.06 > 0.06 > 0.06 > 0.08 0.06 > 0.10 0.09
P Pa=i=ti137d 0.02 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
DA=1=1 7 0.03 0.001 'mg/1 0.005 0.003 0.004 0.005 0.003
INZA=E=T 5 0.03 0.001 |mg/1 0.011 0.005 0.008 0.005 0.011
e 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
Vez1=0i V)N 0.06 0.001 'mg/l 0.013 0.001 > 0.006 0.001 > 0.007 0.001 > 0.013 0.012
TaEvranrs 0.03 0.001 'mg/1 0.005 0.001 > 0.003 0.001 > 0.003 0.001 > 0.005 0.005
DA=E4=1=50 34 0.1 0.001 'mg/l 0.002 0.001 > 0.001 > 0.001 > 0.001 0.001 > 0.001 0.002
we |7 REALL 0.09 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
EANIN= Y % 0.1 0.001 'mg/1 0.019 0.001 > 0.010 0.001 > 0.011 0.001 > 0.019 0.019
FIVLT VTR 0.08 0.001 'mg/1 0.003 0.001 > 0.002 0.003 0.001 >
WE L O DILE 1 0.005 'mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
TNR=T L DAY 0.2 0.01 'mg/1 1.36 0.01 0.50 1.10 0.02 1.36 0.01 0.02
R OEDNEY 0.3 0.03 'mg/1 1.06 0.03 > 0.39 0.88 0.03 > 1.06 0.03 > 0.03 >
SR OZEDILA Y 1 0.005 |mg/1 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 >
1w | TNV LROZEOEY 200 1 |mg/1 10.0 5.7 8.0 6.0 8.9 5.7 9.2 10.0
=T R OEDILEY 0.05 0.002 'mg/1 0.109 0.002 > 0.037 0.074 0.002 > 0.109 0.002 > 0.002 >
A4 200 0.8 |mg/I 12.7 5.0 9.3 5.3 11.6 5.0 12.1 12.7
TN I = T W () 300 1 |mg/l 36 31 33 33 33 31 31 36
3isarty) 500 1 mg/l 134 104 117 131 107 134 104 109
fA A TS PEA 0.2 0.02 'mg/1
VA 0.00001 | 0.000001 |mg/] 0.000003 0.000001 > 0.000001 0.000003 0.000001 > 0.000003 0.000001 > 0.000001 >
B [2—AF AR I —IL 0.00001 | 0.000001 |mg/I 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 >
FeA A FE A 0.02 0.005 'mg/1
EVEIZ | 0.005 0.0005 |mg/1 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 >
ftiS (TOC) 3 0.3 |mg/l 1.9 0.6 1.1 1.9 0.7 1.8 0.6 0.7
pHIE 5.8~8.6 7.4 7.2 7.3 7.2 7.3 7.2 7.3 7.4
'S BTN HERL HERL HERL
B HETRN 5 Bl 5 Bl Rl
o 5 0.5 |J& 20.3 0.5 > 5.6 7.3 0.5 > 20.3 0.5 > 0.5 >
W 2 0.1 | 34.6 0.1 > 13.1 31.0 0.1 > 34.6 0.1 > 0.1 >
BT AR R 1 mg/1 1.04 0.68 0.87 1.04 0.68 0.90
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KA H 20214518 H | 2021454 18H | 2021485 H18H | 20214E5H18H | 2021454 18H | 20214E5H18H | 202145 18H
PRAKIRFZ 11 11 11 131 121 10/ 10/
Bok#E
EEFSA & & & & & & &
AT H R & & & & L & &
AR C 24.6 19.0 20.6 19.0 20.0 21.4 24.6 20.9 19.3 19.2
7RI C 21.9 20.0 21.1 20.5 20.0 21.1 21.9 21.3 21.5 21.1
— B 100 1| /ml 0 0 0 0 0 0 0 0 0 0
BN M BRHET BT T T T BT BT T T T
HARIV LR OZEDEY 0.003 0.0003 |mg/! 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 > 0.0003 >
IRERK O DALE Y 0.0005 | 0.00005 |mg/I 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 > 0.00005 >
LV R OEDLEY 0.01 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
WROZEDILAEY 0.01 0.001 |mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
ER KR OZEDILED 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
Aiza et 0.05 0.005 |mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
K| B e 2 0.04 0.004 'mg/1 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 >
T AMIAT L RO T 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
THEEREZE 8 M OV AR R 2 5 10 0.2 |mg/l 0.7 0.5 0.6 0.7 0.5 0.5 0.7 0.5 0.6 0.7
Tv# R OZEDEY 0.8 0.05 |mg/! 0.10 0.08 0.09 0.10 0.08 0.08 0.09 0.10 0.08 0.09
RUFRROZEOED 1 0.025 'mg/1 0.063 0.047 0.052 0.051 0.063 0.053 0.047 0.055 0.048 0.048
DAk R 0.002 0.0002 |mg/1 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 > 0.0002 >
1, 4—VAF P 0.05 0.003 'mg/1 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 > 0.003 >
" FaoLE T Y 0.04  0.004 mg/l 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 > 0.004 >
D=1z 0.02 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
FhFranzFL 0.01 0.001 'mg/l 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
INA=I=E S P2 0.01 0.001 \mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
B 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
biE N3 0.6 0.06 |mg/I 0.17 0.07 0.09 0.10 0.17 0.07 0.08 0.08 0.08 0.08
P Pa=i=ti137d 0.02 0.001 |mg/1 0.001 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 0.001 > 0.001 > 0.001
DA=1=1 7 0.03 0.001 'mg/1 0.010 0.001 0.005 0.004 0.001 0.003 0.010 0.003 0.005 0.007
INZA=E=T 5 0.03 0.001 |mg/1 0.011 0.009 0.010 0.011 0.010 0.009 0.010 0.010 0.010 0.010
e 0.01 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
Va=1=2:17 N 0.06 0.001 'mg/1 0.015 0.012 0.014 0.012 0.013 0.014 0.014 0.015 0.014 0.013
TaEvranrs 0.03 0.001 'mg/1 0.008 0.006 0.008 0.006 0.008 0.008 0.008 0.008 0.008 0.007
DA=Sd=i=p Y 4 0.1 0.001 'mg/1 0.004 0.002 0.003 0.002 0.004 0.004 0.003 0.003 0.003 0.003
we |7 REALL 0.09 0.001 'mg/1 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 > 0.001 >
EANIN= Y % 0.1 0.001 'mg/1 0.027 0.020 0.025 0.020 0.025 0.026 0.027 0.027 0.027 0.025
FIVLT VTR 0.08 0.001 'mg/1 0.006 0.001 0.004 0.001 0.001 0.005 0.005 0.005 0.006 0.005
WE L O DILE 1 0.005 'mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
TNAI=T BJ OFEDLE 0.2 0.01 |mg/!1 0.03 0.02 0.02 0.02 0.02 0.02 0.03 0.02 0.02 0.03
R EDLE 0.3 0.03 |mg/! 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 > 0.03 >
SRR DAY 1 0.005 |mg/1 0.01 0.01 > 0.01 > 0.01 0.01 > 0.01 > 0.01 > 0.01 > 0.01 > 0.01 >
1w | TNV LROZEOEY 200 1 |mg/1 12.4 11.5 11.8 11.7 12.4 11.9 11.9 11.7 11.7 11.5
~ VB R OZEDILEY) 0.05 0.002 'mg/1 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 > 0.002 >
A4 200 0.8 |mg/I 14.3 12.4 13.4 14.3 12.4 12.9 13.2 13.7 13.6 13.5
TN I = T W () 300 1 'mg/l 42 42 42 42 42 42 42 42 42 42
3isarty) 500 1 mg/l 138 104 123 122 138 122 104 122 128 124
fA A TS PEA 0.2 0.02 |mg/1 0.02 > 0.02 > 0.02 > 0.02 > 0.02 > 0.02 > 0.02 > 0.02 >
Yt A 0.00001 | 0.000001 |mg/] 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 >
B [2—AF AR I —IL 0.00001 | 0.000001 |mg/I 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 > 0.000001 >
FeA A FE A 0.02 0.005 |mg/1 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 > 0.005 >
EVEIZ | 0.005 0.0005 |mg/1 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 > 0.0005 >
ftiS (TOC) 3 0.3 |mg/l 0.8 0.5 0.7 0.6 0.5 0.6 0.8 0.7 0.7 0.8
pHIE 5.8~8.6 7.6 7.4 7.5 7.4 7.6 7.5 7.5 7.5 7.5 7.5
'S BTN HERL HERL HERL HERL HERL HERL HERL
B HETRN L L L HERL Rl Rl L
o 5 0.5 | 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 > 0.5 >
W 2 0.1 & 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 > 0.1 >
BT AR R 1 mg/1 0.73 0.25 0.50 0.40 0.25 0.49 0.73 0.44 0.52 0.67
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